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One more example
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LL version : Same trick as before
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table: To generate
�1� For each terminal in

FRSTCA ) ,
add A→d

to M[ A
,

a ]

�2� If EEFPRSTCA ) , Then for
each b in FOLLOWCA )

,
add A  → × in M{ A ,b ]

In ours
, E.in FIRSTCL ' )

Only thing in Follow ( L
') is )

�3� Any blanks become errors
.

Tabkiskey ! Tells it how
to parse .
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Matched stack input Acton
s '$ ( a,Cb,cD$ uses '→s

5$ [a ,Cb,c))$ use S→k )

*4$ ¢a) (b) c) )$ match ! (
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Remember
-

:

This whole approach is just
to " automate "

parsing .

LL is a simple yet
powerful - fast class .


